
ME 1020 Engineering Programming with MATLAB 

Problem 4.2: 

 

% Problem 4.2 

clear 

clc 

disp('Problem 4.2: Scott Thomas') 

 

% Input coefficients 

a = [2 3 4] 

b = [10 24 24] 

c = [12 48 100] 

 

x1 = (-b + sqrt(b.^2 - 4*a.*c))./(2*a) 

x2 = (-b - sqrt(b.^2 - 4*a.*c))./(2*a) 

Problem 4.2: Scott Thomas 

 

a = 

 

     2     3     4 

 

b = 

 

    10    24    24 

 

c = 

 

    12    48   100 

 

x1 = 

 

  -2.0000            -4.0000            -3.0000 + 4.0000i 

 

 

x2 = 

 

  -3.0000            -4.0000            -3.0000 - 4.0000i 

 


